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(b) exists and 1t equals -2 -
(c) does not exist becausex—-1— 0
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= Tor each x € R, let [x] be the greatest integer less than or
equal to x. Then,

x([x] + |x|)sin [x] .

Iim 1s equal to

x— 0~ | x| (2019 Main, 9 Jan II)
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)Let p= lim (1+ tan®x)'%*, then log pis equal to
x> 07 (2016 Main)
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9 Foreach t € R, let [t] be the greatest integer less t@\h‘
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equal to t. Then,
T
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(2019 Main, 10 Jan 1)
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\_/m:mals 0 (b) does not exist
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(c) equals —1
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= lim u"'_ ﬁll; a equals ( (2019 Main, 8 April I)
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If im {f+ xrl — ax — b] =4 then * k
1
2

(a) a=1b=4 JJra=15b=-4
(c) a=2,b=-3 (d) a=2,b0=3
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